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Question No : 1

A report author creates the following nested report using 2 adjacent levels of the same
hierachy. Users should be able to drill down on the inner nesting with the outer nesting
remaining unchanged.

Revenue 2008 2 1 Revenue 2006 o 1
Camping Copking Gear  19,319,932.91 Camping  Star Lite 11,450,505.30
Equipment  pqp 36,682,570,56|  |COdBMERE oo pome £,591,020,45

Sleeping Bags 24,667, 784.02 Star Gazer 2 10,700,522.00
Packs 26,[![!8,583.62- Star Gazer 3 5,976,470.76
Lankerns 9,171,666,90 Star Gazer & 2,350,784.55

Personal Watches 34,524,622.61 Skar Peg 312,976.50

ACCESSONES Foopear 62, 160,277.03 Fersonal Accessories 131,719,856,12
Knives 10,995, 773.63
Bimoculars 9,955,333,90

What advanced drilling behavior should the report author use to achieve this?

A. Replace Expression

B. Depth Based Expression
C. Preserve

D. Replace Item

Answer: C

Question No : 2

To display all individual campaigns in a crosstab report, a report author could use the
expression set([TrailChef Campaign],[EverGlow Campaign],[Course Pro Campaign]).
Instead, the report author decides to use the parent member of the campaigns in the set
expression "children([All Campaigns])". Which statement is true about the method that was
used?

A. In the future, when a campaign is deleted or new ones are added, the report author
must modify the expression.

B. In the future, when a campaign is deleted or new ones are added, the unmodified
expression will be valid.

C. The report author should not have used the method chosen, as the first method is best
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in this situation.
D. To be accurate, the report author should avoid using a set expression.

Answer: B

Question No : 3

Which of the following statements is correct about the order function?

A. The currentMeasure function must be used with the order function as the sort by
criterion.

B. It arranges members of all sets in the report by ascending or descending values.
C. Optional parameters allow the author to order the members of a hierarchy without
regard of their level.

D. It arranges members of a set alphabetically by ascending or descending captions.

Answer: C

Question No : 4

To create a report from the data source shown, what entities will the report author use?

= g Product
‘ri-r Produck line code
N Product line
‘ri-p Product bype key
‘ri-s Product type code
'l Product type
‘ri-r Base product key

A. Members
B. Values
C. Attributes
D. MUNs

Answer: B
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Question No : 5

A report author is working with an OLAP data source. The report author creates a query
that uses a caption function on a member and applies a string function. What is a possible
consequence of this action?

A. Using these dimensional methods will not work with an OLAP data source.

B. The mapped string values will not pass through to the target report.

C. There is nothing wrong with this approach.

D. Mixing dimensional styles and relational styles in a single query can create unexpected
results.

Answer: D

Question No : 6

When must a report author use the caption function?

A. As the first parameter of the roleValue function.

B. To return the display name for the specified business key.

C. To see the string display name for the specified element.

D. To pass the returned value to a drill-through target report, this expects a matching string
as a parameter value.

Answer: D

Question No : 7

Instead of prompting the user to select any countries in Europe, the report author wants to
constrain the user to select one or more countries from the Northern Europe region. What
kind of prompt should be used and how can this be achieved?

A. This is not possible because a prompt must always be populated with all members of a
level.

B. Create a multi-select value prompt. Populate it using an expression on the [Northern
Europe] member to retrieve its children on the country level.

C. Generate a prompt by creating an expression with a parameter on the crosstab edge:
children([Northern Europe]->?Country?

D. Create a tree prompt, and populate it using an expression on the [Northern Europe]
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member to retrieve its children at the country level.

Answer: B

Question No : 8

The author has created a complex expression called "Sorted Products” on the row edge,
which sorts product line by Revenue for 2006.

Revenue 2008
Personal Accassorias | 504, (79 408,42
..E@gﬁﬂg Eameand | 508 3R2 422,83
Eﬂ;ﬂ'ffmgjslmﬂnf | 230 i 2A0.55
e Ea@mmré J67, 039 823.25
Suf&'ﬂﬂf Frofacian | 0349 77589

2007
443,693, 449, 55
357, 87 370,07
174, 740, 818,29
741, 520, 649, 70
4,977, 075,26

1 |

Revenue 200G 2007
fants Tog, 857, 09200 174, 674, 248, 92
FPacks Ii7,000 558, 3F B3 J5F o5, 00

Sleeping Bage | U5, 164, 939.40 68, 7R0008.17
Cooking Gear | B3 917 5{5.27 56, 313 B00.35
Lanterms 40 479 357.85 28,074, 475,54

What must the report author do to sort the members when drilling down?

A. Configure the Ancestor drill behavior on the Sorted Products expression.
B. Preserve the Sorted Products expression, but replace the underlying Product Set

expression.

C. Nothing, as the default drill behavior is sufficient in this case, to maintain sorting of the

children.

D. Set the behavior to Depth Based Expression, to maintain sorting at a lower level in the

data source.

Answer: B
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